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1) The value of of the coefficient of determination is always in the range
a.0tol b.-1to0 c.-ltol

2) The y * goodness-of-fit test are
a. right-tailed b, left-tailed  c. two-tailed

3) The smallest level of significance at which a null hypothesis will be
rejected is called
a.a  b.p-value c. probability of making a type II error

4) The standard deviation of the sampling distribution of the sample mean
decreases when sample size

a. decreases  b. constant  ¢. increases _
3) Usually the normal distribution is used as an approximation to the binomial
distribution when
a.n=30 b.ap>5Sandng>5 c.np>Sorng>5

6) The mean and variance of a binomial probability distribution with
n=25 and p=0.2
a.5and4 b.2and4 c.Sand?2

7) Mutually exclusive events are always
a. independent  b. complementary . dependent

8) Chebyshev’s theorem can be applied to
a. bell-shaped distributions only b, skewed distributions only
c. any distribution

9) When using ¢ distribution to make inferences about a single parameter,
the degrees of freedom for a multiple regression model with k independent
variables and a sample size of # are equal to

anti—1 b.n—k+1 cn—k—1

10) If the F test shows an overall significance, which test is used to determine

whether each of the individr;zal independent variables is significant
a.Ztest b.rtest ¢,y test
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(Poission distribution) = 3 1
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4.The following ANOVA table, based on information obtained for three samples selected

from three independent populations that are normally distributed with equal variances,
has a few missing values,

Source of Degrees of Sum of Mean Value of the
Variation Freedom Squares Square Test Statistic
Between 2 20

Within 100 F= =
Total 12

F Distribution

a) Find the missing values and complete the ANOVA table. (15%)
b) Using a=.025, what is your conclusion for the test with the null hypothesis that the

means of the three populations are all equal against the alternative hypothesis that
the means of the three populations are not all equal? (10%)

Table of F,,, Values
Dmml inator Numeraior Degrees of Freedom
of Freedom 1 2 3 4 5 [ 7 ] 9 [ I 15 1 4 b T R T 1 N
| HTE TS5 sl E90A 971 9371 MBI 9557 9533 POEG 97T 9E49 993 T I.DI!III 1006 1010 01004 1.4
2 A3 3900 3907 395 1930 3913 338 vy /A 3240 1941 943 945 046 Wdh 1947 948 1949 31950
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o4 1222 D65 994 980 938 920 907 #98 E90 EE4 R75 B66 858 ES]  Hdin W41 s B3 K.2A
e 16 B4} 708 T3 115 &5E B2 678 A8 &EZ 97 643 833 A &M & Il &0V 602
& 181 T2 460 &2 S50 Tx7 30 560 342 S48 537 3237 517 s12 507 301 4% 480 425
T BO07T &34 589 552 5390 %7 4599 490 482 476 447 437 447 447 438 4 415 430 404
] 137 606 542 508 43T 445 443 44) 436 430 420 410 400 195 Ji9 18 TR Am 1a7
9 TIL 571 308 471 448 437 420 400 403 386 387 37T 387 1AL 346 st 345 339 133
{1] 63 345 4B} 44T 434 407 18% 38Y IR AT e . - = A o TR " 1 O R
11 67 526 44 438 44 38 178 J6h 339 3353 343 133 31m 14T A2 3D 30D 203 Twx
12 6355 A0 447 412 383 1T 3461 351 1.4 33T 1M 318 j07 03 29 3191 3% 1T 1T
13 R | 497 435 400 377 160 348 33® 331 33 s ? 305 195 289 18§ 1y .0 b A .Y T X )|
14 630 485 424 389 365 150 338 33 331 3.1% Jos 195 234 399 amy a7 241 235 244
15 620 477 405 180 IS 341 19 3w 3T 306 196 286 276 170 e 49 252 246 240
16 612 4469 408 373 350 LM 1 192 0% 299 289 179 288 263 47 15| 4% IE 15
17 604 462 4 &S 344 328 106 106 198 292 282 17T 1&2 1% 150 144 23 237 1%
18 598 456 395 141 138 332 310 301 253 287 277 LET 256 35D o 38 232 226 A9
19 232 431 380 336 333 NIT 305 206 138 182 272 262 251 245 1319 1My e B azn 113
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